Find the missing number: 2,4,12,48,240,?
960 b. 1440 c. 1080 d.1920

2. Find the missing number: 1,5,9,13
a. 14 b. 15 c. 17 d. None of these

3. Find the missing number: 45, 40, 35, 30,?, 20,15
10 b.5 c. 25 d. 50

4. If sum of a number and its square is 240. What is the number?
15 b.18 c. 25 d. 22

5. The number 649758 is divisible by
a. 5 b.9 c. 6 d 11

6. What is the value of 300 /100 +2 ?
a. 102 b. 103 c.3 d.5

7. 1832+1976-200/5="7
a. 3678 b. 3768 c. 7638 d. 3867

8. Multiply 0.932 x 100 = ?
932 b.9.32 c.93.2 d. 9320

9. Simplify23x19x85="7
19 17
a. 110 b. 125 c. 115 d.120

10. Square root of 144 is ?

a. 12
b. 14
c. 16
d. 18

Correct answer —a

11. How many notes of Rs. 50 can replace 1 note of Rs. 2000/-
a. 50

b. 40
c. 35
d. 45

Correct answer — b

12. Itis required to change a rupee coin into 2 paise and 5 paise coins with the total number
of coins equal to 26. Find the number of each type of coins.
a. 10and 16



b.
C.
d.

12 and 14
10 and 20
14 and 14

Correct answer —a

13.

a.

b.
C.
d

The average of two numbers is M. If one number is N, then the other numberis __ ?
2N

2M

M-N

2M —N

Correct answer —d

14.

o 0 T W

Sheetal scored 25, 15, 15, 30 and 20 marks in 5 subjects. What are the average marks
she scored?

21

25

15

18

Correct answer —a

15.

16.
17.

18.

19.

20.

Sharvani scored 672 marks out of 700. How much percentage did she score?

96

95

99

98

Vijay’s salary is thrice the salary of Nakul. If Nakul’s salary is Rs. 15,000, what is the salary
of Vijay?

5,000/- b. 45,000/- c. 35,000/- d. 25,000/-

A shopkeeper bought a vase for Rs. 500 and sold it for 10% profit. What is the selling
price of the Vase?

650/- b. 550/- c. 700/- d. 600/-

The price of 10 kgs of wheat is Rs. 380/-. What is the cost per kg?
Rs. 28 b. Rs.38 c. Rs.48 d. Rs.29

Find the third proportional to the numbers 5 and 10.
20 b. 30 c. 25 d. 15

Find the number of triangles in the given figure.

\




a. 8 b. 10 c. 12 d. 14

21. Inaclass, except 18 all are above 50 years. 15 are below 50 years of age. How
many people are there?
a. 30 b. 33 c. 36 d. none of these.

22. Vijaya gave Ramesh Rs. 1000/- with an interest of 7%. How much amount should
Ramesh give back to Vijaya in total after 1 year?

a. Rs.1700/- b. Rs. 1070/- c.Rs.1777/-  d.Rs. 70/-

23. An alloy is to contain copper and nickel in the ratio of 3 : 7. Find the amount ( in kg) of
copper required to be melted with 28 kg of nickel to from the alloy.
a. 12kgs b. 24 kgs c. 10 kgs d. 20 kgs

24. A train covers 100 Kms in 2 hours. What is the speed of the train?
a. 50km/hr b. 100 km / hr c.10km /hr  d.70km/hr

25. What is the angle between the clock hands when it is 3 o’clock?
a. 75 degree b. 90 degree c .45 degree d. 60 degree

26. If 12x+9 =69, thenx =7
a. 10 b.5 c. 15 d. 20

27. 8y =168, theny="7
a. 20 b. 21 c. 22 d. 23

28. If 3x+3y=9,thenx+y="

a. 27 b. 18 c. 3 d. 12

29. A man has some hens and cows. If the number of heads is 48 and the number of
feet equals to 140, then the number of hens willbe __ ?

a. 22 b. 24 c. 26 d. 28

30. The diameter of a circle is 28 cm, what is the radius of the same circle?
a. 28cm b. 14 cm c. 9cm d. 7cm

31. All the sides of triangle are equal.

a. Right angle triangle b. Isosceles triangle c. Equilateral triangle.

d. None of these.

32. Leap year comesoncein ___ years
a. 2 b.4 c6 d.8
33. Fill in the missing number
1,3,8,19,42,89,7?
a. 279 b. 141 c. 184 d. 178



34.

35.

36.

37.

38.

39.

40.

The average marks of a student in 7 subjects is 75. His average in 6 subjects
excluding science is 72. How many marks did he get in science?
a. 72 b. 90 c.93 d. None of these

Three numbers are in the ratio 3:4:5 the sum of whose squares is 800. Find the
numbers.

a. 12,16,20 b.10,15,19 «c.20,25,30 d. None of these
A car with speed of 80 km / hr covers a distance of 160 km in the span of
hours.

a. 3hours b.2hours c.2.5hours d. 1.5 hours
All the opposite sides are not parallel in

a. Rectangle b. Square c. Parallelogram d. Trapezium

3333-1111 + 8888 =
a. 11110 b. 10101 c. 11111 d. 12121

If 45 x5y =900, theny="7?

a. 2 b. 4 c. 6
25x13x0+61x26x0="

a. 189564 b. 5642565 c.0 d. 235674



